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Question Number : 1 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



With respect to the student’s ability to benefit from CBCS, which of following holds true:

a) Since it is teacher centric, so student does not have any burden

b) It will result in average performance of a student, who might have scored high
otherwise

¢) CBCS requires thata student be highly informed and updated, as in the absence of it,
maintaining compatibility between the main subject’s courses and other courses
would be challenging.

d) The application oriented mind-set of the student might not be needed

Options:
1.1
2 2
332
4 4

Question Number : 2 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Anurag is a full-time student pursuing MBA from X university and is interested in studyinga
subject of classical music which 1s not taught in his university but is taught in Y university
carrying 3 credits. If both universities are following CBCS. which one of the followings holds
true:

a) The student can enrol himself for classical music in Y university and but on
successful completion, 3 credits earned by him will not be transferred from Y
university to X University

b) The student cannot enrol himself for Classical Music in Y University

¢) The student can enrol himself for Classical Music in Y University and on successful
completion, 3 credits earned by him will be transferred from Y University to X
University

d) The student can enrol himself for Classical Music in Y University subject to his

performance in the X university only

Options:
1.1
2 2
3.3
4. 4

Question Number : 3 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Comprehensive continuous assessment allows teachers to —

a) evaluate the effectiveness of their students and modify them so as to avoid need of
remedial activities for students who are not performing as per the expectation.

b) design their teaching strategies for outperforming students

c) design their teaching strategies with sole focus on underperforming students

d) evaluate the effectiveness of their teaching strategies and modify them so as to
include remedial activities for students who are not performing as per the expectation.

Options:
1.1
2.2
332
4, 4

Question Number : 4 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Based on the below statements, choose the most appropriate alternative

i. At the discursive level the teacher’s theoretical ideas about their subject
leads to specific ways of passing that knowledge or articulation on to the
students.

ii. While at the interactive level, teachers are influenced by the discursive
interactions with students, which will in turn influence the learning tasks
they present to them.

a) (1) and (i1) both are false
b) (i) and (i1) both are true

c) (1) is true and (i1) is false
d) (1) 1s false and (i1) is true

Options:
1.1
2.z
3.3
4. 4

Question Number : 5 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Basic conclusion of Smeets and Mooij’s experiment and Hay McBer’s report is
that —

a) even a less qualified teacher can excel with help of ICT

b) even a highly qualified teacher cannot excel because of presence of ICT
c) teaching capabilities are far more important than ICT

d) developing ICT capabilities are more important than teaching capabilities

Options:
1.1

2 2z
2.3
4. 4

Question Number : 6 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does SAMR STANDS FOR?

a) substitution augmentation modification and redefinition
b) substitution augmentation modification and redesigning
¢) substitution alignment modification and redefinition

d) substitution augmentation modulation and redefinition
Options:
1.1
2.2
3.3
4.4

Question Number : 7 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Entrepreneurial skills such as and are important for academic success
(choose the most appropriate one)

a. creative problem solving and ability to work in silos
b. collaboration and industry awareness
c. critical thinking and creative problem solving
d. None of these
Options:
1.1
2 2
33
4.4

Question Number : 8 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



With respect to the concept of VUCA- NW, chose the most appropriate combination

a) NW stands for Nature apathy — wisdomlessness and it 1s linked to concept of kalivug
b) NW stands for Neuropathy — wisdomlessness and it 1s linked to concept of kaliyug
c) NW stands for Nature apathy — wisdomlessness and it is linked to concept of Satyug
d) NW stands for Neuropathy — wisdomlessness and it 1s linked to concept of Satyug

Options:
1.1
2.z
3.3
4. 4

Question Number : 9 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose correct statement?

[ — Democratic Kutumb allows Indian society to accept and provide space for contradictory
worldviews

IT - Democratic Kutumb 1s also captured by the Mahavira's famous phrase, 'Live & Let Live'

a) Both statements are partially correct
b) Both statements are partially incorrect
¢) Both statements are correct
d) Both statements are incorrect

Options:

1.1

2 2

3=

4 4

Question Number : 10 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
With respect to MBA education choose the most appropriate alterative:

a) It has not been able to keep pace with time because it 1s not based on strong research
based theories

b) It has been able to keep pace with time because corporate preferit
c) It has been able to keep pace with time because it assimilates ideas and concepts from
various emerging disciplines easily
d) Vested interest of organizations is too strong that it forces to keep management
dynamic element
Options:
1.1
2 2
3.3
4 4



Question Number : 11 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Adopting newer pedagogies in management education is need of the hour because:

a) Job scenario is rapidly changing and needs quality input from teachers
b) Students’ and parents’ expectations are very high and its duty of institutions to deliver

c) Even if teachers will not innovate, new advancements in technology will force them
to innovate

d) All of the above
Options:
1.1
2z
33
4 4

Question Number : 12 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Content taught in management institutions should ideally be diversified because:

a) Students come with diverse needs and capabilities
b) To provide opportunity to various authors to share their multiple perspectives
¢) To confuse students because it is the first step to learning
d) To maintainthe uniqueness of program
Options:
1.1
2 2
3.3
4.4

Question Number : 13 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

For teaching business current affairs to students which of the following strategies works
better

a) It 1s up to students to read the current atfairs themselves and teachers should not get
involved in this

b) Integratethe current affairs with the theories to be taught for effective learning

¢) Directly give case studies in the exams based on current affairs without discussing in
the classes

d) Instead of current affairs focus should be on building strong theoretical foundations
only

Options:
1.1
22



2.3
4. 4

Question Number : 14 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
There is need of indigenous research in management domain:

a) Yes, because the existing theories are based on western research done in western
context and culture

b) Yes, because West doesn't have robust research practices

c) No, there is no need for indigenous research in management literature

d) No, western research is sufficient and we are better as followers

Options:
1.1
2.2
332
4, 4

Question Number : 15 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Indian scriptures can provide good knowledge base, given:

a) We seek acclamation from West for our research

b) We avoid western literature completely

c) We proceed for rigorous research based on indigenous knowledge
d) No need for any research in this domain

Options:
1.1
2 2
3.3
4 4

Question Number : 16 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Good principles of personal finance need healthy discussion in the management classes
because:

a) It will help students in managing their money in a better way during their college days

b) It instils a sense of responsibility among the students towards their family and society
c) Bothaandb

d) None, no need for discussing personal finance
Options:
1.1
2z
2.3



4. 4

Question Number : 17 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the most appropriate option for the below mentioned statement

Knowledge of social and emotional intelligenceis linked with management because

a) There is a need to manage the emotions well to nurture healthy relationships
b) It is one of the aspects of psychology and therefore it should be taught
c) Any new intelligence theory should be taught in management
d) It 1s mandatory to have courses on social and emotional intelligence
Options:
1.1
2 2
33
4 4

Question Number : 18 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

With respect to the idea of teaching business history in management institutions, select the
most appropriate option:

i. It should not be taught because it is waste of time
i1. It is essential to know origins of any discipline and its development trajectory
i1i.  Many indigenous sources like scriptures in India have lot to offer in terms of
management only thing is to do for research
a) Only (1)1s correct
b) Both (1) and (i1) are correct
¢) Both (i) and (i11) are correct
d) None is correct
Options:
1.1
z Zz
33
4.4

Question Number : 19 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If Rahul keeps PIN of ATM card on a piece of paper in his wallet along with ATM card and
his wallet gets stolen. Now the card is used to withdraw money from his account, who will be
responsible for loss of money?

a) Rahul himself
b) Bank only

c¢) Both of them

d) Neither of them

Options:
1.1
2.2
332
4, 4

Question Number : 20 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Suppose Mr. X had Rs. 100 in his savings account and the interest rate 1s 20 % per year and

he never withdraw money or interest payments. After 5 years. under compounding how much
would he have in the account in total?

a) More than Rs. 200
b) Exactly Rs. 200
¢) Less than Rs. 200

d) None of above

Options:
1.1
2 2
3.3
4. 4

Question Number : 21 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Managers can show their influence in three directions 1.e. managing upwards (managing
boss), Managing team, managing stakeholders. Managing boss would mean

a) To take decisions without prior notice and consent of the senior manager and complete the
task

b) Communicate with the senior managers to get your work done

¢) Communicate with the lower staff to finish the work timely

d) Understand the working style of the senior managers and work accordingly



Options:
1.1
2.2
332
4, 4

Question Number : 22 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Which approach sounds most similar to Buurtzorgs's approach?
a) Driverless transportation

b) Teacher-less education

¢) Minimum government, maxinmun governance

d) Roads without traffic lights

Options:
1.1

2.z
2.3
4. 4

Question Number : 23 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Gurukul believes that knowledge is role of teacheris to help child find it

a) everywhere, outside
b) difficult, nowhere
¢) within, within

d) outside, within

Options:
1.1

2 2z
2.3
4. 4

Question Number : 24 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Select the correct combination for avayav

1.Pratigya (Point) 2. Hetu (Reason) 3. Gvaan (knowledge) 4. Elaboration 5. Example 6.
Upanay (Relation or analogy of point - reason -example) 7. Nigaman (conclusion)

a) 1,2,3.4.5
b) 3.4,5.7

¢) 1.2,5.6.7
d)1,2,4.5.6

Options:
1.1
2 2
332
4 4

Question Number : 25 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which topic(s) is(are) most suitable for Shastrath?

1. Can money bring happiness?

2. In the land of Vasudhaiv Kutumbkam, let us not worry if our business is taken away by the
Western businessmen

3. Why companies should do CSR if their business is socially responsible?
4. Innovation is the need of hour

a) 1,24

b)2.3.4

c)1,2,3.4

d) 1,2,3
Options:
1.1
22
33
4. 4

Question Number : 26 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



A method that helps managers and executives make decisions about their employees or
workforce by application of statistics, technology and expertise to large sets of talent data,
which results in making better management and business decisions for an organization.

a) Strategic HRM

b) HR Analytics

c¢) Decisional HRM
d) HRM Associations

Options:
1.1
2.z
>3
4 4

Question Number : 27 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

According to the Attribution Theory of Leadership, there are many ways in which an
organization might be negatively impacted by a leader's attributions. How might that
organization be positively affected?

a) A false sense of security might develop in the organization through given attributions.

b) The leader might develop an overly positive view of an employee on a day that is not
representative of that employee overall.

¢) The leader's perspectives and assumptions could be incorrect about employees

d) Employees could be recognized and accurately placed within the organization based on
attributions

Options:

1.1

z Zz

3.3

4. 4

Question Number : 28 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

"Shareholder wealth" in a firm is represented by the

a) number of people employed in the firm.
b) book value of the firm's assets less the book value of its liabilities.
c¢) amount of salary paid to its employees.

d) market price per share of the firm's common stock.



Options:
1.1
2.2
332
4, 4

Question Number : 29 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A conceptual framework for accounting is

a) A set of financial statements

b) A set of rules governing financial reporting

c) A set of components of financial statements

d) A set of principles underpinning financial reporting

Options:
1.1
22
3.3
4. 4

Question Number : 30 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following describes the disciplined inquiry of qualitative research?

a) The researchis investigative.
b) The research is rigorous in terms of data collection and analysis

¢) The research emphasizes the voices of participants

d) All of the above.

Options:
1.1
22
3.3
4. 4

Question Number : 31 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



This is a form of targeted advertising, on websites, with advertisements selected and served
by automated systems based on the content displayed to the user.

a) Contextual advertising.
b) Interactive marketing.
c¢) Internet advertising.

d) Direct marketing.

Options:
1.1
22
332
4, 4

Question Number : 32 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following statements about leaders versus managers 1s false?

a) Leadership is a value-laden, activity, management is not

b) Leaders focus on risk taking: managers perform functions such as planning and controlling
c) Leaders are thought to do things right, managers do the right things

d) Leaders develop, managers maintain

Options:
1.1
2.z
>3
4. 4

Question Number : 33 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

An organization whose mission combines revenue growth and profit making with the need to
respect and support its environment and stakeholder network

a) Sustainable Organizations
b) Social Organizations
¢) Growth Organizations

d) Network Organizations
Options:
1.1
2 2
3=



4. 4

Question Number : 34 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Mrityorma Amritamgamya (Lead me from Death to Immortality), according to you which
model is best suitable for this Mantra:

a) MBA
b) OSHA
¢) VEDA
d) BEST

Options:
1.1

2.z
2.3
4. 4

Question Number : 35 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following statements about leadership is false?

a) Leadership does not necessarily take place within a hierarchical structure of an
organisation

b) When people operate as leaders their role 1s always clearly established and defined

c) Not every leader 1s a manager

d) All of them

Options:
1.1
2 2
3.3
4 4

Question Number : 36 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Albert Mehrabian suggested that immediacy is the degree of perceived physical or

psychological closeness between people: manifesting in either approach or avoidance.

a) No. the statement does not suit the theoretical basis of psychology

b) Yes, the statement is true.

¢) No. he suggested that psychological closeness between neither result in approach nor
avoidance
d) All above are incorrect

Options:
1.1
22
332
4, 4

Question Number : 37 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Social intelligence is -

Statement 1: Adapting one’s behavior on the basis of one’s own emotion
Statement 2: Attunement with others’ emotions

Choose the correct option:

(a) Only statement 1 is correct

(b) Only statement 2 1s correct

(c) Both statement 1 and statement 2 are correct
(d) Both statement 1 and statement 2 are incorrect

Options:
1.1
22
332
4 4

Question Number : 38 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
After conducting the experiment on dog. it was concluded that.... other than Conditioning
may be more ..... in the long run.

a) Applied System & Confounding
b) Control System & Conducive

¢) Cognitive System & Common
d) None of the above



Options:
1.1
2.2
332
4, 4

Question Number : 39 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Select the correct option for the statement mentioned below

Statement 1: Conditioning restores integrative intelligence

Statement 2: Buurtzorg de-conditions nurses to support return of natural reflexes
a) Only statement 1 is correct
b) Only statement 2 is correct
c) Both statement 1 and statement 2 are correct

d) Both statement 1 and statement 2 are incorrect
Options:
1.1
>z
3 3
4 4

Question Number : 40 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

There 1s a Paradigm shift in management of human resources. Choose the correct option:
a) HR is shifting its focus from business of the organization to organisation of business
b) HR now also play an important role in building the financial capital
¢) Both (a)and (b)
d) Neither(a) nor (b)

Options:
1.1
22
33
4 4

Question Number : 41 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct statement with respect to commonly discussed HR related concepts
Statement 1: Mobility is a symptom of Unstability
Statement 2: Employees expect increased degree of autonomy

a) Only statement 1 is correct

b) Only statement 2 is correct

c) Both statement 1 and statement 2 are correct

d) Both statement 1 and statement 2 are incorrect

Options:
1.1

2 2z
2.3
4. 4

Question Number : 42 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the part of brain which is more emotional, reactive and unregulated

(a) Limbic System
(b) Brainstem
(c) Both (a) & (b)
(d) None of the above
Options:
1.1
2z
3 3
4 4

Question Number : 43 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When we talk about integrative intelligence then we aim to arrive at this comprehensive
view. We call ita ..... view.

a) Coherent

b) Integrated

¢) Comprehensive
d) None of the above

Options:
1.1
2.z
332
4, 4



Question Number : 44 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the part of brain which is more emotional, reactive and unregulated

(a) Limbic System
(b) Braimnstem

(c) Both (a) & (b)

(d) None of the above

Options:
1.1

2z
2.3
4. 4

Question Number : 45 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
When we talk about integrative intelligence then we aim to arrive at this comprehensive
view. We call ita ..... view.

a) Coherent
b) Integrated
¢) Comprehensive
d) None of the above
Options:
1.1
2 2
3.3
4.4

Question Number : 46 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A company's 1s (are) potentially the most effective instrument of good

corporate governance.

a) Common Stock Shareholders
b) Board of Directors

¢) Top Executive Officers

d) Company Secretary

Options:
1.1

2.2



2.3
4. 4

Question Number : 47 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How might the size of a business be best measured?

a) number of employees, and overall gross profit

b) number of outlets or business units and market value
c) total revenue and capital investment

d) all of the above

Options:
1.1

2 2z
2.3
4. 4

Question Number : 48 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is closing price in Commodity Market?

a) Last Trading price
b) Price at the end of the day's trading

c) Average price of last 15 minutes of the day's trading

d) None of the above

Options:
1.1
2 2
332
4 4

Question Number : 49 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following indicates a buy signal to technical analysts
a) The stock breaks through the moving average line from below
b) Odd-lot buying exceeds odd-lot selling.

¢) The support level is broken.

d) The advance-decline line is falling in a rising market
Options:
1.1
2 2
33
4.4

Question Number : 50 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

An entrepreneur into the hosiery business found out the reason for low sales of his hosiery

was due to its colour. What could be the best source of this information?
a) Supplier

b) Competitor

c) Retailer

d) Government
Options:
1.1
2 2
23
4.4

Question Number : 51 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Chose the alternative that captures the essence of CBCS 1n best manner:

a) It is teacher centric because for high quality of teaching. the curriculum and pedagogy
revolves around the teacher

b) It is teacher centric but it is the student who 1s at the focal point and entire pedagogy,
curriculum, material, evaluation etc are designed taking him/her into consideration so
difficult to implement

c) It is student-centric because it is the student who is at the focal point and entire
pedagogy, curriculum, material, evaluation etc are designed taking him/her into
consideration.

d) It is student-centric but for high quality of teaching, the curriculum and pedagogy
revolves around the teacher, so difficult to implement

Options:
1.1
2z
33
4.4

Question Number : 52 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Semester system is more suited in the CBCS because in the annual system -
a) teaching, learning and examinations are not student oriented.
b) there is generalization of the diversified needs and realities of the students.
¢) Bothaandb
d) None of these

Options:
1.1

> 2
2.3
4. 4

Question Number : 53 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Although CBCS seems to be very promising in elevating the quality of higher education but
like any other system it too needs to address certain issues. Which of the following is the
major issue with respect to current scenario in India?

a) Less number of students joining university because of online modes of education
b) Scarcity of qualified teachers and supporting staff in institutes.
¢) Implementation of CBCS will result in lesser jobs for teachers

d) Financial challenges of such system will result in poor implementation



Options:
1.1
2.2
332
4, 4

Question Number : 54 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Thinking is divided imnto and where one is about
concept building framework of the students which was supported by traditional
book knowledge and case studies. while other supports the above knowledge
with interactive ICT learnings. building and teaching students allied cases
through audio visual as it aides the learning process.

a) analytical and practical

b) intellectual and conceptual
¢) analytical and conceptual
d) rational and cognitive

Options:
1.1
2.z
332
4, 4

Question Number : 55 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following holds true for Entrepreneurship

1) it 1s bevond starting a new venture

i1) include all types and at all stages of organizations (venture start up, running, not
performing, etc.)

i11) it is only about earning a lot of money

1v) it is about continuous renewal

a) (1), (i1). and (iv)

b) (1). (i1). and (i11)

c) All are true

d) None is true

Options:
1.1
22

3.3



4. 4

Question Number : 56 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

These days customers want a personalized. one-on-one interactions with brands. and marketers are

exploring ways for approach to generate higher revenues
a) Traditional

b) Targeted

c¢) Curated, but not segmented

d) none of the above

Options:
1.1
2 2
332
4 4

Question Number : 57 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0
The level of imvolves a understanding of consumers” real interests along with
their current position in the customer journey in order to segment and target by individual behavioral

interactions.

a) micro-segmentation, granular

b) Generic segmentation. microscopic
c) Geographic, broad

d) None of these

Options:
1.1
22
33
4. 4

Question Number : 58 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In using IoT devices there are challenges in the complexity of using this medium —

a) but it’s clear that there are endless opportunities for marketers to tap IoT to connect with their

CONSINNCrs.

b) but government will ban the excessive usage without any warning
¢) but marketers are not interested in taking it further

d) none of these
Options:
1.1
22
3 3
4 4

Question Number : 59 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
An mtegrated view to three steps - that 1s - open coding. code groups. and axial coding. they give a
glimpse mto how the researcher systematically progresses from to more

a) raw qualitative data. abstract codes and relationships
b) abstract codes and relationships. qualitative data

¢) cleaned data. relationships

d) None of these

Options:
1.1
2 2
332
4 4

Question Number : 60 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

For researching view to three steps — that 1s — open coding. code groups. and axial coding, they give a

glimpse mto how the researcher systematically progresses from to more

a) raw qualitative data, abstract codes and relationships
b) abstract codes and relationships. qualitative data
c) cleaned data. relationships

d) None of these

Options:
1.1
22
3.3



4. 4

Question Number : 61 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

is a valuable corporate governance tool. It empowers employees to act on incidences of

misconduct and help mamtain a safe workplace while protecting profits and reputation.
a) Whistle Blowing

b) HR-bots

c) IoT

d) None of Them
Options:

1.1

Z 2

=2

4 4

Question Number : 62 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

If EPS of a company 1s Rs.8 and capitalization rate 1s 10%. The company have DPR 50%. Compute

the share price when return of company 1s 15%.
a) 90

b) 100

¢) 120

d) 150
Options:
1.1
2.z
>3
4 4

Question Number : 63 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Integrative intelligence aims to promote ?
a) consumerism

b) conditioning

¢) complexity

d) none of these

Options:
1.1
2.2
332
4, 4

Question Number : 64 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
5 E's in new type of economy that employees look to achieve are:

—

. Efficiency. Entrepreneurship

[ =]

. Effectiveness. ethics

[ ]

. Enjoyment
4. Engagement

a) 1 and 2

b) 2 and 3

¢) 1.2and 3

d) 1.2 and 4
Options:
1.1
22
332
4, 4

Question Number : 65 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the combination which is correct:
1. Conditioning kills integrative mtelligence
2. Self-management structure reduces natural reflexes
3. Conditioning fuels integrative intelligence
4. Self-management structure enhances natural reflexes
a)land 2
b) 1 and 4
c)2and 3

d) none of these
Options:
1.1
2. 2
3.3
4. 4

Question Number : 66 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Bharatiya scriptures suggest that partnership should be formed with those people who know coing and
how to deal with revenue and expenses; and people who are honest and forthright. This idea in

contemporary times can be most likely linked with idea of ?
a) Due diligence

b) Wealth Management

c¢) Financial Analytics

d) Trusteeship
Options:
1.1
z Z
==
4.4

Question Number : 67 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



As per review of Dharmshastras by Donald R Davis Jr, whenever there 1s a conflict, business

concerns and goals must yield to dharmik. political. and goals.
a) personal

b) social

c) global

d) business

Options:
1.1
2 2
332
4 4

Question Number : 68 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
"Arthasya moolam rajyam" signifies that the basis of prosperity 1s ?

a) business
b) employment
¢) service

d) governance

Options:
1.1
22
332
4, 4

Question Number : 69 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
One who has conquered self can gamn everything is reflected by which Sanskrit phrase?
a) Jitaatma sarvarthe sanyujat
b) Vinayasya moolam vruddhopasevah
¢) Indriyajayasa moolamVinayaha
d) none of these

Options:
1.1



> 2
2.3
4. 4

Question Number : 70 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which holds true for super artificial intelligence?
a) mimic human thoughts and even surpass it

b) fully developed in today's time

¢) good for well-defined tasks

d) controlled cognitive abilities

Options:
1.1
2.z
3.3
4. 4

Question Number : 71 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Deep Learning uses based techniques to generate mnsights on the data

a) Artificial Intelligence
b) Computer Aided Design
¢) Neural Network

d) Data Analytics

Options:
1.1

2 2z
2.3
4. 4

Question Number : 72 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Al needs strong support from to clarify goals. concepts it uses along with kind of

knowledge and ontology a machine needs to mteract with humans
a) Science

b) Data

¢) Religion

d) Philosophy

Options:
1.1

2 2z
2.3
4. 4

Question Number : 73 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Choose the correct alternative based on sentences below -

NITI Aayog decided to focus on five sectors that are envisioned to benefit the most from Al in
solving societal needs:
1) Healthcare. Agriculture, Education, Defence
2) Healthcare. Agriculture, Smart cities
3) Security, Food. Culture
4) Transportation, Education
a) only 1
b) 1 and 3
c) 2 and 3

d) 2 and 4

Options:
1.1
2 2
3.3
4. 4

Question Number : 74 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The rationale of the academic research papers in majority of the cases 1s the existing

found during review of literature.

a) key point
b) research gap
c) research objective

d) hypothesis
Options:
1.1
22
3.3
4.4

Question Number : 75 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Following metric can be adopted to decide the quality of research paper:

1. Extent of literature review

2

. Methodological rigour
. Huge data set

3
4. Relevance of topic
5

. Skewed data
a)l,2.4and 5
b)2.3and 4
¢) 1,2 and 4
d)1.3.4and 5

Options:
1.1
2.2
33
4.4

Question Number : 76 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The key characteristic of Puraan 1s to share knowledge through
a) Theories

b) Examples

c) Concepts

d) Metaphorical Stories

Options:
1.1
22
332
4, 4

Question Number : 77 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
18 the fundamental aspect of Gurukul education

a) Knowledge
b) Aacharan (teach by example)

¢) Rote learning

d) both b and ¢

Options:
1.1

2 2z
2.3
4. 4

Question Number : 78 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Gurukul culture encourages people to adopt a lifestyle of
a) Luxury

b) Indiscipline

¢) Self-reliance

d) hardship

Options:
1.1



> 2
2.3
4. 4

Question Number : 79 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Following a well-designed systematic approach allows the activities to become part of the
mind
a) Conscious
b) Sub-conscious
¢) Un-conscious
d) limbic
Options:
1.1
2 2

2.3
4. 4

Question Number : 80 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Empathy 1s associated with

a) Recognizing and understanding other people's emotions
b) Managing your emotions
c) Knowing vour emotions

d) Entering into emotional states attached to achievement and success
Options:

1.1

2 2

33

4. 4

Question Number : 81 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Swami Vivekanand defined education as manifestation of already present within. (choose
the most appropriate)

a) knowledge
b) information
c) truth

d) divinity

Options:
1.1
2.z
>3
4 4

Question Number : 82 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
means that we mamntain a certain level of standardization to meet the common needs and

offer the customization to the extent possible.
a) Integration

b) Manipulation

c) Mass Customization

d) Innovation
Options:
1.1
2 2
33
4 4

Question Number : 83 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Bhagwan Shri Krishn in Geeta has advised us to become in any activity that is in pursuat
of dharm_
a) nimift - a self-less doer
b) mumatt - Hard-core follower

¢) mmitt - Sole Doer

d) nimitt - controller
Options:
1.1
z. 2
]



4. 4

Question Number : 84 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which approach usage of ICT resource i1s done to empower the students’ learning, for example by
enabling them to improve their class work by taking notes on the computer, or by sending homework
by email to the teacher from home, or by word processing their homework.

a) Enhancement Approach
b) Complementary Approach
c) Integrated Approach

d) Augmented approach
Options:
1.1
z Zz
3=
4.4

Question Number : 85 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Process for generating creatrve ideas and solutions through intensive and freewheeling group

discussion

a) Brainstorming
b) Mind mapping
c) Gamification
d) Flashcards

Options:
1.1
2 2
3.3
4 4

Question Number : 86 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



In these times when leamnability is the biggest asset, the approach of can play a crucial
role 1n developing the right attitude (choose the most appropriate)

a) Knowledge
b) Scriptures
c) Shastrarth

d) Darshan Shastra
Options:
1.1
2 2
33
4 4

Question Number : 87 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In which style of leadership “Dand Niti” 1s used

a) Theory X
b) Theory Y
c) Theory Z
d) Theory K

Options:
1.1
22
332
4, 4

Question Number : 88 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Many educationists opine that vesting too much power in the hands of indrnidual faculty under CBCS
may lead to of students.

a) poor quality of education
b) victimization

c) growth

d) none of these

Options:
1.1
22
33
4 4



Question Number : 89 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

One of the benefits of grading system 1s that it minimizes of students on the basis of

a) misclassification, marks
b) score, grades
c) marks, score

d) score, misclassification
Options:
1.1
22
3.3
4. 4

Question Number : 90 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
One of the social dimensions of grading is that it reduces societal pressure by eliminating

competition

a) healthy

b) unhealthy
c) cut-throat
d) bothband ¢

Options:
1.1
2 2
332
4 4

Question Number : 91 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Without CBCS students have very little choice in selecting their subjects after opting for a particular
programme or degree. Which analogy (analogies) explain(s) the phenomenon best -

1. Tt 15 like hostel mess one has to eat only what 1s served unlike a hotel where one has the

option to select what one wants to eat.

2. Tt 15 like a public transport rather than private taxi or car, can travel only to pre-defined

routes.

3. It 15 hike ATM machines where only pre-fed amount can be withdrawn
a) only 1 and 2
b) only 2 and 3
c)only 1 and 3

d)1,2and3
Options:
1.1
2 2
33
4 4

Question Number : 92 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
CBCS specifies number of credits to be taken in duration of time to complete

a particular programme of course not the time duration
a) total, mimimum, maximum

b) maximum, mimmum, maximum

C) mitimum, minimum, maximum

d) maximum, maximum, minimum

Options:
1.1
2.z
3.3
4. 4

Question Number : 93 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Generic Elective Courses are those elective courses which are generally chosen froma/ an

with an intention to seek exposure in that discipline too
a) core discipline
b) unrelated discipline
¢) information technology domain

d) management
Options:

1.1

22

33

4 4

Question Number : 94 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Credit means a unit by which a course 15 measured. It determines the number of of
instructions required per for a particular course / subject.
a) hours, days

b) hours, semester
c) hours, week
d) week, semester

Options:
1.1

2.z
2.3
4. 4

Question Number : 95 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Most likely, a management teachers of future will have play a role more like a:
a) Manager

b) Consultant

c¢) Information provider

d) Guide with hand holding capabilities
Options:
1.1
2 2
3.3
4 4



Question Number : 96 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Absolute grading system marks are converted to grades based on class intervals of marks

a) random

b) probabilistic

c) non-linear

d) pre-determined

Options:
1.1
22
33
4. 4

Question Number : 97 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
CBCS might lead to increase in the workload of teachers™ as they may end up 1n prepanng different

assessments and evaluating them_ so assisted systems can be good help 1n this pursust.
a) Artificial Intelligence

b) Manual

¢) Coded

d) Decoded

Options:
1.1

2.z
2.3
4. 4

Question Number : 98 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The organizations that actively involve researchers, analysts, and academicians to provide inputs in

policy making are commonly known as

a) Policy Think Tanks
b) Freelance Research Group
¢) Management Consultats

d) Non-Profit Organizations

Options:
1.1



> 2
2.3
4. 4

Question Number : 99 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e-Samiksha and PRAGATT intiatives of Government of India are for

a) Diversity Management

b) Risk Management

¢) Disaster Management

d) Performance Management

Options:
1.1

2 2z
2.3
4. 4

Question Number : 100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
SHEAMEVA JAYATE 1s smitiative of Government of Tndia to adequately recognise the of
an individual
a) Entrepreneurial Skills
b) Team Spirt
c¢) Labour Work
d) Potential

Options:
1.1
22
332
4, 4



